Math 392 Quiz 3B
February 11, 2019

Name: ANS\/\/Q(LS

Instructions: No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.

1. Define the following:

(@) Vf(x,y) = < JCx/ ‘(:L’) >
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(where C is a smooth curve parametrized by 7(t) =< x(t), y(t) >. No shorthand, flesh out full definition.)

2. Setup an integral to find the Iength of the curve parametrized by x = 3ef cost,y = 3etsintfor0 < t < 2m.
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(Simplify the integrand, but do not evaluate the integral)
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3. Evaluate the above integral: L = % Z (C l /’ REA yeot¥
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4. let f = zcos?(xy), find Vf = <’.37/' Srn CZX‘US)) —XZ S“"(’Z’Xﬁ)/ oS X\0>

5. Let C be the line segment from (—1,—1) to (1,1), compute j 2%% ds
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Integral set-up: f(; LH/i (—-H—?’{’) 01{- Answer: 3

Bonus:

1. Computef 3y ds where C consists of the quarter circle x? + y2 = 1 in the second quadrant, traversed counter-

C
clockwise, followed by the line segment from (-1,0) to (-2,0).

Integral(s) set-up: V/ 3 Sin %/_ ”(% Answer: 3
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State the meanings of the symbols in the above: F:' 1§ VQ,L{"D( ]ﬁlﬁ)cl; C ) e Smooﬁ_ c,\J(\/'&/
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(Problem 2 is all-or- nothmg)
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